Vocabulary Section: Ciimleyi anlamsal biitiin olusturacak sekilde uygun kelime ile tamamlama
bilgisini 6lcen sorular cevaplanacaktir. Asagidaki sorular 6rnektir.

1. An increase in consumer spending is generally with reluctance to produce. In other
words, increase is caused by reluctance.

a. demonstrated
b. examined

c. based

d. associated

2. He his lectures with stories of his own experiences in the field. He shows the truth
of something in his lectures by giving examples.

a. assumes
b. considers
c. illustrates

d. examines

3. Scientists are gathering information about human intelligence.

a. quantify
b. quantitatively
C. quantitative

d. quantity

4. It is difficult to any pattern in these figures. They are not noticeable.
a. discern

b. maintain

C. engage

d. publish

5. The company's results are stock market expectations. Fortunately, they are at the
same level.

a. in line with
b. to some extent
c. in contrast to

d. in spite of
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Cevap Anahtari:
1. D 2.C 3.C 4. A 5 A
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